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HIDRA channels:
• 09 LPD/SPD
• 1014 unused
• 15 CN diod

LPD



channel [0][9]

ADC0 = 𝑅𝐴𝑊 − 𝑃𝐸𝐷

ADC0 = 20 ∙ 𝑅𝐴𝑊 − 𝑃𝐸𝐷− 2000
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▪ iHidra 0 channel 9

▪ xx 433.337

▪ xy 343.086

▪ yy 513.987

▪ yx 343.086

▪ eigenvalue 0 819.109  sqrt 28.6201

▪ eigenvalue 1 128.214  sqrt 11.3232

▪ R00  cos(theta) 0.664555R01 -sin(theta) -
0.747239

▪ R10  sin(theta) 0.747239R11  cos(theta) 
0.664555

▪ tg(theta) -1.12442

S = 𝐶𝑁



▪ iHidra 1 channel 9

▪ xx 67.5007

▪ xy 62.282

▪ yy 471.704

▪ yx 62.282

▪ eigenvalue 0 481.083  sqrt 21.9336

▪ eigenvalue 1 58.1216  sqrt 7.62375

▪ R00  cos(theta) 0.148912R01 -sin(theta) -
0.98885

▪ R10  sin(theta) 0.98885R11  cos(theta) 
0.148912

▪ tg(theta) -6.64048

S = 𝐶𝑁



R𝑀𝑆(𝑅𝐴𝑊 − 𝑃𝐸𝐷)

R𝑀𝑆(𝑅𝐴𝑊 − 𝑃𝐸𝐷 − 𝐶𝑁)
 (fit)
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channel [0][9] 
LPD 

𝐴𝐷𝐶 − 𝑃𝐸𝐷 vs LED signal

channel [0][15] 
CN 



LED signal
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160

RAW vs LED signal
channel [0][9] 
LPD 



𝐴𝐷𝐶 − 𝑃𝐸𝐷 vs LED signal

channel [0][15] 
CN 

(channel noise ~ 20 ADC counts)



channel [0][9] 
LPD 

𝐴𝐷𝐶 − 𝑃𝐸𝐷 vs LED signal

channel [1][9] 
(SPD) 
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HIDRA 0 HIDRA 1 HIDRA 0 HIDRA 1

Unused HIDRA channel ??

Adjacent 
LPD channel

CN channel SPD channels



HIDRA 0 HIDRA 1

Unused HIDRA channel ??

Adjacent 
LPD channel

CN channel SPD channels
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